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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 928 0.5 0.5 1 47.7 99.3
2 883 0.2 0.4 1 16.4 94.4
3 930 2.6 1.5 4 65.2 99.5
4 935 4.7 2.3 12 39.6 100
5 935 5.2 2 12 43.3 100
6 935 0.9 0.3 1 91.8 100
7 914 0.4 0.5 1 40.4 97.8
8 920 1.6 0.7 2 81 98.4
9 927 1.5 0.6 2 77.4 99.1

10 935 7.4 2 12 61.4 100
11 935 5.8 2.7 12 47.9 100
12 868 0.2 0.4 1 15.7 92.8
13 899 0.5 0.5 1 47.8 96.2
14 934 2.7 1.1 4 66.9 99.9
15 933 4.6 2.7 12 38.5 99.8
16 933 5.9 2.2 12 49.1 99.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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	 (d)	 ‘Should 16-year-olds be allowed to vote?’ Discuss.	 [6]
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Sticky Note
Although valid arguments have been made in the response, the answer is lacking a conclusion. A detailed conclusion is needed to gain full marks.

Sticky Note
The candidate attempts to give another side to the discussion stating the views of others.

Sticky Note
The candidate has made a statement of their opinion at the outset of their answer. They then follow the sentence with reasons as to why they think this to be the case. Many assumptions and generalisations are made.





Sticky Note
Remove mark - only worth 3 marks at the most!

Sticky Note
The answer lacks a conclusion, we would expect the discussion be drawn together with a final statement of opinion

Sticky Note
The candidate has attempted to present an argument for the case by stating their opinion in the first sentence and giving valid reasons for their view. 
There is only one sentence for the opposite side of the discussion. Ipoorexpresed





Sticky Note
The candidate has made an attempt at a realistic and sensible argument and the ideas are expressed in a logical manner but the answer lacks a summative conclusion to gain the full six marks.

Sticky Note
They have mentioned the idea of responsibility, maturity and representation in their answer as indicated in the mark scheme showing consideration of the issue well.

Sticky Note
The candidate has stated their personal opinion at the beginning of the answer and given a reason as to why they think this is so.
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	 (d)	 ‘Most heart problems are caused by factors that you certainly can control’. Discuss.	 [6]
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Sticky Note
The candidate has stated their opinion at the start of the answer and proceeds to give reason for their view.
They continue with a discussion on lifestyle choices, showing background information on the build up of fat in the arteries and how being overweight puts additional strain on the heart.
The answer lacks a discussion on the other aspects contributing to heart disease - hereditary conditions.
The answer would be enhanced with a conclusion which would lead to higher marks being awarded.





Sticky Note
Remove mark in column

Sticky Note
The candidate has stated their personal opinion at the start of their answer.
They then acknowledge that some heart conditions are hereditary.
The discussion briefly focuses on obesity, lack of exercise and diet.
An attempt is made at a conclusion but is garbled and confused.
To improve this answer, the candidate would need to discuss the issues mentioned in further detail- they have made statements but further in depth discussion is needed.
The conclusion needs to be more focussed with a summative statement re-iterating their opinion with reasons.





Sticky Note
Hide mark

Sticky Note
The candidate has focussed their answer on lifestyle choices and has expressed their opinion on the statement.
They acknowledge that some heart disease is genetically inherited.
There is confusion as to the statement on the link between disability and lack of exercise contributing to heart disease.
The answer starts well with a logical discussion but lacks an in-depth conclusion to gain the higher marks.
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	 (d)	 Discuss the social, cultural and economic consequences of the United Kingdom accepting 

large numbers of asylum seekers.	 [6]
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Sticky Note
remove mark

Sticky Note
The candidate has acknowledged that the discussion should centre on social, cultural and economic consequences of the UK accepting asylum seekers.
They have expressed an opinion that it could be advantageous to the UK stating many benefits.
They have attempted to provide the other side of the discussion by stating briefly the problems that could arise fro this issue.
They have concluded their answer with a positive sentence.
To gain a higher mark, the candidate needs to provide further discussion of the points they have raised - they are valid arguments but are brief in nature.





Sticky Note
The candidate has structured their answer well, taking the social, cultural and economic aspect separately.
The social aspect has been slightly confused with the economic situation on jobs but could be interpreted as a issue in society.
The cultural issue has been explained well, linking religion and tradition.
The economic aspect, although brief, has been discussed well.
 To gain higher marks the candidate needs to provide a conclusion expressing their opinion on the issue of the UK accepting large numbers of asylum seekers.





Sticky Note
The candidate has failed to structure their answer in terms of social, cultural and economic consequences but has provided a discussion on the benefits and problems encountered by the UK accepting large numbers of asylum seekers.
The arguments are realistic and logical in nature but more discussion of specific issues is needed. Clarification of crime rates rising would be helpful.
The answer lacks a conclusion and the candidate fails to express and opinion on the issue.
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 (d) Answers may include reference to the arguments for and against 
allowing 16 year olds having the vote such as: 


 
  Representation – young people are tax-payers and are old 


enough to take on a range of adult roles, such as marriage, 
parenting and full-time employment, so, are they not old enough 
to vote? 


  Maturity – Are young people of 16 mature enough to vote? Do 
they have enough understanding of the world to make sense of 
politics? 


  Responsibility – will 16-18 year olds take their responsibility 
seriously enough if given the vote. 


 
  0 marks for an answer that shows no evidence of discussion on the 


issue of young people having the vote at 16.  
 
  Level 1 


1-3 marks for an answer which shows some discussion on the 
issue of young people having the vote at 16. Answer lacks 
structure. There is limited use of specialist terminology with 
frequent errors in spelling, punctuation and grammar. 


 
  Level 2 


4-6 marks for an answer, which makes realistic and sensible 
arguments on the issue of young people having the vote at 16. 
Information is organised and ideas are expressed in a logical 
manner. There is a good use of specialist terms with minor 
errors in punctuation and grammar that are not intrusive.  [6] 
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Q.10 (a) Allow one mark for correctly stating three quarters of a million 
people in the UK. [1] 


 
 (b) Allow one mark for correctly stating each of two factors that can 


lead to heart disease answers may include: 
 
 (c) Allow one mark for each of three ways that schools can 


encourage a healthy heart lifestyle. Answers may include: 
  Providing lessons on: 


Healthy eating 
Stay active  
Smoking prevention  
Stick to healthy limits of alcohol 
Stress management  
Weigh control 
 
Provision of healthy food in school canteens 
5x60 incentives to encourage physical activity [3x1] 


 
 (d) There are several risk factors for heart disease; those that are 


beyond our control include: 
  Male 
  Older age 
  Family history of heart disease 
  Being post-menopausal 
  Ethnicity 
 
  Those within our control include: 
  Smoking 
  Greater security 
  To raise children 
  Formal commitment to partner  
  Expression of love and commitment  
  Financial security 
  Religion  


 
Level 1 
1-3 marks for an answer, which shows some discussion on heart problems 
that can be controlled.  Answer lacks structure.  There is limited use of 
specialist terminology with frequent errors in spelling, punctuation and 
grammar. 


 
Level 2 
4-6 marks for an answer, which makes realistic and sensible arguments on 
heart problems being caused by factors that can be controlled.  Information 
is organised and ideas are expressed in a logical manner. There is a good 
use of specialist terms with minor errors in punctuation and grammar that 
are not intrusive. [6] 
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Q.15 (a) Allow one mark correctly stating 15.million refugees at the 
beginning of 2012. [1] 


 
 (b) Allow one mark each for two reasons why a person may become 


a refugee. Answers may refer to: 
  People leaving their homes and becoming refugees because of 


 War (including civil war) 


 Ethnic, tribal and religious violence 


 Political persecution 


 Famine and poverty [2 x 1] 
 
 (c) Allow one mark for each of three correct reasons answers may refer to: 
  Men are often involved in fighting or have been killed 
  Women and children are defenceless and seek refuge in another country 
  Women and children often have no rights and are vulnerable. [3 x 1] 
 
 (d) Answers may include reference to social, cultural and economic 


consequences of the United Kingdom accepting large numbers of 
asylum seekers. 


 
  0marks for an answer that shows no evidence of discussion on 


the social, cultural and economic consequences of the United 
Kingdom accepting large numbers of asylum seekers. 


 
  Level 1 
  1-3 marks for an answer, which shows some discussion on the 


social, cultural and economic consequences of the United 
Kingdom accepting large numbers of asylum seekers. Answer 
lacks structure. There is limited use of specialist terminology with 
frequent errors in spelling, punctuation and grammar. 


 
  Level 2 
  4-6 marks for an answer, which makes realistic and sensible 


arguments on the social, cultural and economic consequences of 
the United Kingdom accepting large numbers of asylum seekers 
information is organised and ideas are expressed in logical 
manner. There is a good use of specialist terms with minor errors 
in punctuation and grammar that are not intrusive. [6] 


  





	4d: 
	10d: 
	15d: 


